o000 oo #110 2003-12-2 00

5.2 0O0O0O0OO0OO0OOOO0ODO
uboooobooboooooboboooboon00O0DbOO0OO0OO0ODOO0DOO
oo 5.6

(1) OOo0oOoO0D0ooOOoUoUOoODoOoOo Vooooooooogf:Vv—-VvVooooo
00000000 ANO 00000000 00000 f(lv)=X00000XNO fO0O0O
O (eigenvalue) D00 0o O00NO0OO0O00f00000O0O (eigenvector) 00O OO

W) ={veV] f(v)=rv}
0ADOD0D f00000000000 (eigenspace) 0000

(2 0000000 0OOUOODOO0ODO0OOO nO000 AODOOOOOOO XD O0OOODOO
O0 x 000000Ax=Xx00000XNDO ADOOO (eigenvalue) D000 O00ADO
0000AO0DOO00OO0OO (eigenvector) DO OO

W) ={x e K" | Ax = \z}
ONOUOOD ADOO0OOOODOOOO0O0 (eigenspace) 1000

(3) DoUOODO O(t: A)=det(tE,—A) 0 AODDOOOO (eigenpolynomial) 00000
O00®(t: A)=00 ADDOOOODO (eigenequation) 10000000000 OOOOO
000000000 (characteristic root) 00 00O

00 5700000 %(t:A)=00 KOOUOOOO AODUOOOOOOOOOOOOOOOO
gobooogo
gbooooboooooobooogd

00 5.8 det(B)=00000000000000000 «00000 Bz=00000000
oooooooon

00 (1)(+=)000000det(B)#0000 419000000000000 Bx=000O
00 B~'00000 2=B"'Bx=B"'0=00000 OK.

(2)(=)B = (v;...v,) 000000 5100 vy,...,0, 00000000000000000
0oooooo ay,...,a, 000000

a1v] + - +apv, =0 (1)

ai
goo0o0d00x = : O00o0o 1000000

an

Bx =0
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uggobd s.3 Ooobooboobooboobabood

0100
0010
0)
000 1
0000
0100 000 1
0010 0010
1) 2)
000 1 0100
1000 1000

00 59 n000 ADDDOOOOOOOOOOOOO0 n0000000000000 wuy,---,u,
00000000000000P = (uy - w,) 0000Au; = Nu; (i=1,...,n) 00000
A o)
P7IAP = " 0Doo0ooo
o) An
00 w0 A0000A0000000000Cw,...,uw, 000000000

A1 0]
AP = A(uy ... up) = (Mg ... Apuy) = (Aug . A\uy) = (U ... uy)
0] A

00000000 5100000 POODOOOOO OK.

00 ADDODODOODOOOO P'APO0OOOOOOOOODOD POODODOP = (uy -
u,) 0000 ;0 ;0OOODDOOODOOPOOODOOOOO uy,...,u, 010000
ooo

84



